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Warm Up

Find the initial value of a parabola with vertex 

V(3, 5) that passes through the point P(7,1).

Lesson 18

Quadratic Functions 

– General Form
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Quadratic Function – General Form

General Form:

khxaxf  2)()(

cbxaxxf  2)(

Vertex: ),( khV from
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Quadratic Function – General Form

General Form:

khxaxf  2)()(

cbxaxxf  2)(

Vertex: ),( khV from
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Quadratic Function – General Form

Ex 1: Find the coordinates of the vertex and the 

equation of the axis of symmetry of the following 

parabola:
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Quadratic Function – General Form

Ex 1: Find the coordinates of the vertex and the 

equation of the axis of symmetry of the following 

parabola: 34)( 2  xxxf
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Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Starting with cbxaxxf  2)(

1)  By factoring: 

0342  xx

Ex 1: Find the zeros of: 34)( 2  xxxf

0342  xx

0332  xxx
0)1(3)1(  xxx

0)3)(1(  xx

Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Starting with cbxaxxf  2)(

1)  By factoring: 

Ex 1: Find the zeros of: 34)( 2  xxxf

01x

Case 1: Case 2:

03 x

1x 3 x

the zeros are: 31and )0,3()0,1( andor }3,1{or
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Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Starting with cbxaxxf  2)(

2)  By using the formula: 

Ex 1: Find the zeros of: 34)( 2  xxxf
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Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Case 1: - there are two zeros042  acbif

86)( 2  xxxfEx 

acb 42 

0

)8)(1(4)6( 2 

3236 4
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)9)(1(4)6( 2 

Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Case 2: - there is one zero

Ex 

042  acbif

96)( 2  xxxf

acb 42 

3636 0

Quadratic Function – General Form

Finding the zero(s) of the Quadratic functions:

Case 3: - there are no zeros

Ex 

0

Since we cannot square 

root a negative! 
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Homework

Workbook

P. 101 #1

P. 102 #2

P. 103 #3

P. 104 #4-13


